This week’s QR code hunt is a bit different. There are less QRS to scan and the clues are

more cryptic. Some will require maths puzzles to be solved and some will need to work out
the order of letters.

Below are 26 Chinese symbols. Each one represents a letter in the English alphabet using a
number, the number is the position that the letter sits in the English alphabet. Any clues
that require a maths puzzle to be solved, the answer will relate to a letter in the English
alphabet.

You are being timed from your first google form submission and until your last.

ENJOY!
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Each character has a number, the number relates to a letter in the English alphebit and its

normal potition....so the number 26 would stand for Z.



